In GPS the navigation data are uploaded from several
ground antenna upload station.

sil.lG.erev. - @& CreliGsager  CLLLT&EET eréemd L SENTT
<erLrarm LG evCLagalld @mBbg <Gom . Qeuwuliu@Eng.
(A) 5m-P-band (B) 10 m — Q —band
515 — 19 — Guawr_ 10 B — fly, — Cuarr_
(C) 15m-R —band (D) 10 m — S — band
15 6 — it — Guasr- 10 & — ereiv — CGuietre-

(E) Answer not known
allenL Gsflwalerenay

Select the correct four applications of GPS
sil.19.era. - e Filwmer Brew@ LweTUT el CambolsH&EsHe| b

(A) Datum, Level, Surface, Fall
7@, WL LD, UFLL], @D&sLD

(B) Navigation, Location, Space, Marine
auNlCF)Ss50, @)L b, elamtleuat, sLc Frihs

(C) Bearing, Reading, Levelling, Error
sTadlsdr, sasS®h, FwarU(OSSO, Gampadr

(D) Correction, Result, Computation, Solution
HmSSD, (Plg6|&6T, (s samss®h, Siey

(E) Answer not known
clenL Gsflwalerenaw
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3. known as a parameter (electrical quantity) that can be
varied in such a way as to convey information in GPS.

sl.19.erev. @ @@ umgm
CarELUUSDHE LID&Em (HID.
(A) Signal
FLol&en @h
(C) Data
So

(E) Answer not known
e Qsflwalcrena

4. The advantages of GPS survey is
shl.19.erev. FTGeuudlerr BemennaeT

(A) High Precision
o Wi géadlwibd

(C) Night operation only
@rey 2UGrager L HILD

(E) Answer not known
clenL Gsflwaicrena

490-SURVEYOR AND 4
DRAUGHTSMAN(CIVIL)

BLLi sl s  sseudsamer
(B) Multimeter
Loedlg B LT

(D) Computation
ST ()

(B) Weather Dependent
cureflened FmibHss)

(D) Site Intervisibility Required
ser @enL_Gleuall Caenal



In GPS observation techniques and methods, of each

satellite are known.
sl 9.ere.  sa@wsTewilly  EHILUBIGET  bOMID  papsefled  eeubeum(m
QewnhenasCamar e Pl Elermer.

(A) XY, XZ, XX coordinates
XY, XZ, XX emrudleaenii

(B) Latitude, Longitude Coordinates
9 sCrans, Sr&sCrans emmbidlanemriiL

(©) XY, Z, Coordinates

X, Y, Z us0sreaaeysen

(D) Observation Coordinates
Crré@se ephidleneniiL

(E) Answer not known
e Qsflwalcrena

The accuracy of point positioning with GPS averages is

solllerev - uyeir Lyatafl Hlaneoriggedlen gievalwid syma G D.
(A) + 10 meters (B) + 15 meters
+ 10 S riser + 15 B Liiser

17 meters (D) £ 20 meters

17 S Lriser

+
+ H+

20 B Lirser

(E) Answer not known
sdlenL Gsflwalerenay
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7. The military derived grid system divide of UTM is
meters square parts.

wefleuiged grmearaveuien QuiCslLi (UTM) @rranieusdedmng Quprin L

S LanLoLiLy B L @enGeuatlufed gy s Lwoms WNsdng.
(A) 500 m (B) 1000 m

500 S 1000 B i
(C) 2000 m (D) 3000 m

2000 Scm 3000 e

(E) Answer not known
en Ggflwueidane

8. consists of a master control station in Colorado
springs, Colorado with five monitor stations.

QareormGLr evlflnien, darerrGLm obgl wreafll LT Blaownisamens
QaremL (paerennd s Hiuum_( blaowusamss Csrar@bererg.

(A) Space segment
aumerOleuat GesGwemr (fley)

(B) Control segment

sL_hrum_(h Q&s6werr g6t (19flay)
(C) Orbit segment

sHmiurens 9fey
(D) User segment

Lwerm Qeswerrt (19May)

(E) Answer not known
enL Ggfwueidane
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10.

11.

Satellites Transmit accurate time using on board

Qewpenss  Camarser Lweru(®sd,  gleoedllwwrer  Crrsans
Sie 1Ll e er.
(A) Atomic clock (B) Master control station

@) Sl &HTFLD pserend L (HLILTL(h Blaneowid
(C) Ground antenna (D) Monitor station

ST %6070l L_aorm seargTent UL Hlepewlb

(E) Answer not known
e Qsflwalcrena

The control segment of GPS is located

sl.19. 6T, - @ s_Hrur(h Wfley S| DHFIETATS).

(A) on space vehicles (B) on rockets
lareuafl aursarssle &6 &L (Haafled

(C) on aircraft (D) on the ground station’s
el menggled ST Hleneowimnisaertle

(E) Answer not known
e Qsflwalcrena

The segment in GPS consists of orbiting space vehicles
satellites.
sol.19.6T6.- &b 2 aiTer Wfley edlemreuall aursar Gewphas Cardarsamer
&HmIL urenguiled @us&SHmg).
(A) user (B) control

LW GoTIT S (huum(h
(C) space (D) computation

e euefl &eTEE ()

(E) Answer not known
clenL Gsflwalerena
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12. They are launched between 1978 and 1985 on
Atlas ‘F’ rocket.

sleev el (F) rmsQaslpeefler 1978 womid 1985 && Qenuled

Qewnhenssds CamaTeeT reuliul L .

(A) 09 satellites (B) 11 satellites

09 QewnhenssCamerser 11 QewpenssCareraer
(C) 15 satellites (D) 17 satellites

15 QewpenssGareraer 17 QewpenssGarerser

(E) Answer not known
alenL Gsflwalerenay

13. The three segments of the GPS system are the space, user and the
sil.19.ere enoLiden eperm ifleyser @)L b, LT WwHmID

(A) Interface (B) Human
@ (s ifley weflg Wifey

(C) Control (D) Computer
sL_uur_ () 9fey sawtlat 19 ey

(E) Answer not known
en Ggflwueiceane

14. country developed the GPS.
BrH 83.19.6r6v. &g 2 (HeursElwg).
(4) USA (B) India
S|CwM&sT @bSHuwir
(C) Russia (D) Italy
Jei%WIT OEEUEN

(E) Answer not known
en Ggflwaeiceane
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15. IRNSS satellites expansion

IRNSS 6 elfeumésid

(A) Indian Regional Navigation Satellite System
@ndlwer weam e el QFuhanssCamer el

(B) Indian Real Nagpur Satellite System
@ndlwer 2 arend BréLT CewunHanssCamer el

(C) Indian Regional Nature Service System
@pHwer e Cris Fralen el

(D) Indian Reserve Neutral Satellite System
@ndwer @iy pOHlame dFwuhHassGamer el

(E) Answer not known
enL Ggflwuaeideane
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16. Select the correct statement in following (accurates in GPYS) :
Gemeu@pd  eumsdlwmgefles  sflwumremeupenny  CsiblsOés.  (89.19.6r6v.
godlwsdhareareanal)

(1) For a soldier in the field enough to accurate 10 meters
@@ Huumis@ o 10 UL (@ @Q@meE@h Hlaw Curgirarsrs
BnEGWD

(1) For a ship in coastal waters accuracy on the order of 5 meters
sLCary Bl g sluugsE @wrr O BULr giwadlwbd Curgwrasrs
BoEEWD

(111) For a land survey field work accuracy distance in a men
30 meters
floo emeweuser Geuiwyd weaflgansEd 30 Bl grpb geéeadwwmer
Sjerane Gam(H&@Wm

(iv) For a geodetic land surveying however accuracy requirements
are 1 centimeter

ACWMQLIg s Hleo Sjeraigh@ gevalwid 1 Qaemg Sl Li Gurgrersns

BBEGWD

(A) (1) and (iv) 1s correct (B) (1), 11) and (1v) 1s correct
(1) whod (1v) &M (1), 1) oy Av) &M

(C) (@), v), (11) 1s correct (D) (11), (111), (iv) 1s correct
(1), av) wpmib (11) &f (11), (111) wHmid (1v) &M

(E) Answer not known
adlenL Gsflwalerena

490-SURVEYOR AND 10
DRAUGHTSMAN(CIVIL)



17. Starting a GPS survey decide which system to use.
sil.19.eran.  samsLEHlmL  CsTLBIGasHE (P SN
vweruhss CauamBhibd erarLianss Sroraisseyb.

(A) Traversing (B) Orientation

Herefludler Cammidl Lweaflgs Cpré@b Hlanevenw LiweTU(HiES
(C) Co-Ordinate (D) Co-efficient

e (HiaidlenemTiiLy @ enent ClFuwicddmeir

(E) Answer not known
e Qsflwalcrena
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18. Assertion [A]

> mdLLGsmped [A]

Reason [R]

smyeanrd [R]

GPS 1s a satellite based navigation system
made up of a network 24 satellites placed
into orbit.

2 &eTeiled BHleneouim(p) FlevL b GTeTLIG)
Colgemellgenar  SqlitewLwng  CsrerLg).
Crell Caaqem e b QB Geums

24 Gal gl samar <Ml iqd QEramg,.

It possible to non precisely identify locations
on earth by measuring the distance from the
receiver.

ffleum eped grysens emell(Peuger epetd Ldludled
2 GTeT @)L BISEET FHIOEOIWIDNS HEnLWIMETD  STewT
PiguyLd.

(A) [A] 1s False but [R] is True
[A] seum <pemed [R] &l

(B) [A] 1s True but [R]

1s False

[A] &l <yemmed [R] seum
(C) Both [A] and [R] i1s True
[A] 0o [R] @renGio sf

(D) Both [A] and [R]
of [A]

1s True but [R] is not correct explanation

[A] womib [R] @rewrpn &f, @ssier [R] ererug [A] ar sflwner

OTSSHLD V6D

(E) Answer not known

e Qsflwalcrena

490-SURVEYOR AND
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19.

20.

instrument identify the geodetic control and plate

tectonic studies.

(A)

(©)

(E)

smedl HCWTCL4d SUHUUT L QL WTETDd  STaELSH &0

CQLsCLrmails sU(h upd < uile] etieusnHEb LweTL hi&Eng.

Total station (B) Trone
Qrss Hlepeowid L_Grymedr
GPS (D) Receiver
a9 eTei. &l eurr

Answer not known
e Qsflwalcrena

Consider the following statement relations to the GPS :
sfl.19.erev. Qgmruner GeTel(Hh Fnhmsaar <,rmiis.

)

D)

(A)

(©)

()

GPS calculate the speed, bearing, trip distance sunrise and
sunset time.

sl.19.ere. Coussd, smmIE@GL Smer, Lwewr YL, GHw 2.swb HMID
Sjevsard samsslhSng.

Lesser time to complete the survey and survey with great
precision of these.

G@peurar  Crrsdled  samsts@lenl  (pysdserd  bHmL WO
SIONIDTET 16| &(EMH&E; LILIEmers @D

Geupmier

(I) 1s true (B) (I) is true

(I) v @pw sNwrerg D wrEn sfwrearg

(I) and (II) are true (D) (I) and (II) are false
(I) wpmw (A1) sNwrerg (D) wpow (II) seuprearg

Answer not known
adlenL Gsflwalerena
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21. The thickness of top layer or wearing coat of a bitumen or tar
concrete varies from
s srerdlfliger Cod bhsE g Couflit Camiiger Figloer
(A) lcmto 1.5cms
1 @g.8. wpged 1.5 Q&.15 cuany
(B) 2cmsto2.5cms
2 Q&.18. g 2.5 Q.5 cuenry

(C) 3cmsto3.5cms

3 Q&.5. s 3.5 Qg.18 euanty
(D) 4 cmsto4.5cms

4 Qe.5. s 4.5 Qg.18 cuany

(E) Answer not known
alenL Gsflwalerenay

22. to enable free movement of Traffic around an urban area.
souwrar CUTEEISSISETS BaTLDSMS SH CurLiu@&pg.
(A) Highway (B) Ring Road
QB (H @peFTEnE QL LE FTame
(C) Expressway (D) Motorway
llenyeldF Frenev QUTHETF &FTEH6V

(E) Answer not known
e Gsflwalcrena
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23.

24.

Match the following :
Yemeupeuameupenm CUmBSEs

(a) Sub base 1. Cross drainage
HIBMET DL GM&G 6llg&Hmed
(b) Cause way 2. Over the soiling
srev Ceu e senyuder g Cumbeug
(c) Base course 3. Foundation layer
WPSEU el SlevSleury AH&G
(d) Wearing course 4. Carpet
Cé L] &LDLIGTLD

@ b © @

A 2 1 3 4
B) 4 2 1 3
< 1 2 3 4
(D) 3 1 2 4
(E) Answer not known
cdlen Gsflwaeidane
Choose,
After certain length of straight routes, a slight bend should be
provided to break the and keep the drivers alert.
Caita] Cl&ul,
Coyrer urengseafler @bl L Sergdns@l 9n@ Adlu euamerey Gam@HlLiLL
Cauamrd. @g —————— 168, @l (harmsamer eHPNLL6T ameudbd(hés
2 56|50 g).
(A) Speed (B) Sleep
Coussmns SEHSMS
(C) Tired (D) Monotony
Gamirenau CurGarmGLmeflenuw

(E) Answer not known
e Qsflwalcrena
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25. Choose,

Aerial photographs may be taken on a scale of

Caiblgh&seb,

aumemeuLdl LenslILULBIsET 6Thg avCH6I 6T(H&sLILIL LD,

(A) 1:20,000to 1:50,000 (B) 1:10,000 to 1: 20,000
(C) 1:5,000to01:10,000 (D) 1:1,000to1:5,000

(E) Answer not known
clenL Gsflwalcrenaw

26. During preliminary survey, the cross section taken at about
interval in Rolling Terrain.
Uieumhigs  uiellenr  Cumg, Gw@ wererwmer  BHleoliyribed
@ _Geuafluded @M@ Geul (B Cambmbd erdsiL. Couem@Hib.

(A) 50m B) 75 m
50 8 75 8

(C) 100 m (D) 125 m
100 5 125 5

(E) Answer not known
alenL Gsflwalcrena
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27. Among the following identify which is not related to reconnaissance

survey
Yemeupeuameupdled, 2 eme| YUile| samsbshliyLer CsrLiry @dorsaham
SeHTLMWeb.

(A) Detailed levelling
allfeurer Glevaiedn
(B) Value of land
Blaggler oSl
(C) Climatic conditions
ST Blen &6
(D) Terrain and soil condition
Bleotiuriiy wHmId LoesTenter SemenLo

(E) Answer not known
en Ggflwueieane

28. road 1s not according to importance.
gl SpsasaL stere (psSwsgieud Wifleler S eurmg.
(A) Class Iroads (B) Class II roads
(PSD UGS FTEne @rreRTL D eU@GHLILE FTene
(C) Class III roads (D) Class IV roads
EPGTHITLD GU@GLILIE FTened BTET&TD U@GLILE FTEH6

(E) Answer not known
e Qsflwalcrena

17 490-SURVEYOR AND
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29. roads serving areas of production and markets, industries,
residential areas, railway stations and airports etc.

FTMOSHET 2 HLIGH WOMID FHensser, CsTHDEFTaMOEET, (&lqullmLiL

L@dlaer, guiled HleneowimigeT wHmib ellnrer Hlenowkser euluins Gaddlemner.

(A) National Highways (B) State Highways
Calw QB (H EhFTemSET wrble Clb6H EpFTane&eT

(C) Daistrict Roads (D) Village Roads
LDTEUL_ L FTeneO&ET Symo FrenesET

(E) Answer not known
e Qsflwalcrena

490-SURVEYOR AND 18
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30.

Consider the following statements :
Gemeu(pd sadmissamen &GS Camers :

1.

2.

(A)

(B)

(©)

D)

()

National Highways connecting foreign highways
Casflw Qphersmamasea Celaliprl(h sramogmer @eameanmssns|

State Highways connecting district head quarters
wrble Cb{H EEFTEMESET LTI L S BSTHISEET @)6namddlng)
The specifications of the major district roads are not same as of

state highways
WSS wreul L smamegafer alleurs@Mliy wrble Cb0H EhsTan g6t e
aurs@miiy Gumed @eeama

Many of other district roads remain closed due to the traffic
during Monsoon

e wrell L grenasaile wepssrasdd Curs@aurss HnssiiuOEng.
1, 2 and 3 are correct

HHID S &l

and 4 are correct

wHmid 4 &

and 4 are correct

L,
2,
2,
L
1,2 womid 4 &1l
L,

W DN DN W W

and 4 are correct
1, 3 whmb 4 &l

Answer not known
alenL Gsflwalerena
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31. The frame limiting the drawing space should be executed with

continuous thin line of mm.

auenrULSdlemr @QmUALSms euerwen CFiubd SU9Cramw  Aerisfwner
Qe wCsr() OB yerelldd @ (md&s Couesr(Ib.

A) 0.8 B) 0.7

(C) 0.6 (D) 0.5

(E) Answer not known
allenL Gsflwalerena

32. The area of Ao designation drawing sheet is

Ao e aueriuLggmefer LiFliLaTey

(A) 0.25 m2 (B) 0.125 m2

0.25 sgyySi i 0.125 sgySi i
(C) 1m2 (D) 0.5 m2

1 sgipSe i 0.5 sgySi i

(E) Answer not known
en Ggflwueidane

33. One of the orientation marks always points the
draughtsman.
Crrs@hleans @laafle eerm eriiGLITgID euanFauTeTanTy Qedpg.
(A) Towards (B) Upwards
Crrss CoaoCprsed
(C) Downward (D) Forwards
EPCrrsd wparCarmé

(E) Answer not known
alenL Gsflwalerenay

490-SURVEYOR AND 20
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34.

39.

36.

should be located at right hand bottom of the sheet.
uerULSgmatlen &peucgl Sanwbdlhss Ceuer@HIb.

(A) Title block
sa@alys Csr@d
(C) Border

LU&E allevd@

(E) Answer not known
allenL Gsflwalerenay

(B) Grid

SL_LLD

(D) Layout

SOTeUELDLIL]

The standard line thickness of the border 1s

ueprlULBiseter LsseNed@d Camiiqer Sigoer

(A) 0.30 mm
0.30 Weved Bt
(C) 0.50 mm

0.50 Wevad WS ir

(E) Answer not known
alenL Gsilwalerenay

(B) 0.40 mm
0.40 Wéved BSiLir

(D) 0.60 mm
0.60 Weved B

to determine the natural and artificial features on the

earth.

iluller Wgerar @uipenswirear wHmID QFupeswTear Sbshsmars Srorafllss

2 56/8ng|.

(A) Topographical map
CLrmuCGurdlymslG&sa Gl

(C) Astronomical survey
9w CrrCpriilsse srGeu

(E) Answer not known
en Ggflwuaeiceane

21

(B) Topographical survey
CLmuGurdlymeslsgsad gl

(D) Geological survey
HCwreslsasd FTGeu
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37. FMB expansion is
FMB & a9fleunssib

(A) Field Measurement Book
Lo femail () HSSEHD

(C) Field Main Book
Ho &S 4s55ED

(E) Answer not known
clenL Gsflwalerena

(B) Field Metropolitan Book
Heo QU®BSET LSS

(D) Field Material Book
He Cummer 4ssab

38. The survey in which the curvature of earth is taken into account is

known as
Lblufler  cueneTaneud

eresrm Gluiwi.

(A) Engineering Surveying
Qumdluiwed grCGeuudim

(C) Plane Surveying
A Gererr &mGeuudim

(E) Answer not known
clenL Gsflwalerena

sansdled  Qamerh  CuplamareriiL(pib

#Geus @
(B) City Surveying
S g grGeuudim

(D) Geodetic Surveying
D CwTClLiqs FrCeuudr

39. Survey in which to collect the details of cyclonic affected

areas, flooded areas.

#Geu, queored umdasiiul L @)L kisealer Casniser, CleleTarssme
GUUL L ugdlsaier alurhisamer CaamssiiuOEH DS

(A) Aenal
erilwied

(C) Cadastral
SHL_6VL_J6L

(E) Answer not known
clenL Gsflwalerena

490-SURVEYOR AND 22
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Qe
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40.

41.

42.

survey deals in unearthing the relics of the past.
Loludleb LenspgleTer LIPBISTQL (@HTUSE Slememmbisaner  searldlwl
sGeu 2 56 dwg).

(A) Geological (B) Archaeological
D Cwiresdl&se 9 TEHSTOE &H&HED

(C) Military (D) Cadastral
WSled L &L_GL_[JeD

(E) Answer not known
en Ggflwuaeicane

1s a town planning main drawing.
GTGTLIG 6(Fh B&ETSIH e LATSTem euenyLIL LDm@Lb.
(A) Master plan (B) Topo plan
LOMGVL_IT LIGTTEHT CLrGum Liermer
(C) Site plan (D) Service plan
&L LIGTITET gireden LIemmen

(E) Answer not known
enL Ggflwueidane

Vertical and inclined lines are drawn with help of
2 gedlu|L6or AE AL LOHmILD FTBHS Cam(Hadr
auerwiLhEerme.

(A) Set square (B) Tec. square
Qe evQa T Tec. evQamuir

(C) Scale (D) Protractor
ere G e LITE&LDTay)

(E) Answer not known
alenL Gsflwalerena
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43. pencil used for construction lines, Dimensions lines,
section lines and center lines.

Quendlevser sl _(hHwrard GCarhser, uflwrans GCardHser, Yerels

Carser womid ewws CarOs@End@l LweTUOESLILH Sl ermer.

A) H (B) 2H
(C) HB (D) 2B

(E) Answer not known
allenL Gsflwalerena

44, pencils used for shading.
Quendlevser HlpaisE LweaTUOSSLILIGS DG
A H (B) B
(C) 2H (D) 2B

(E) Answer not known
e Qsflwaicrena

45. One width to length ratio of drawing sheet is
auamyssaien AssHDHGD HersHn@perer alldlsnd

(A) 1:42 (B) 1:2
) 11 (D) 1:4

(E) Answer not known
enL Ggflwueidane
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46. When only one figure is to be drawn on a sheet it should be drawn in
the of the working space.
xCr gratled @Cr em 2 (heausms WLLHGCWL eamyu CoudmguilpbsTed, igl

417.

48.

Couaned Glawiyd @)L &dler

(A) Centre
WS D

(C) Right
cUeSIe

(E) Answer not known
e Qsflwalcrena

aanywiuL. Geuadr(pib.

(B) Corner
epamaudled

(D) Left
@Ldle

The zones along the width of the sheet are designated by

sraflen DIHSS D 2 ET6T LOEHTL GVMIGET

(A) Letters

CT(LPSHGI SHSHATTED

(C) Sign

&M L_WITGITLD

(E) Answer not known
e Qsflwalcrena

GN&sLILIHE erner.

(B) Numerals

GTEHTHGTITEL

(D) Colours

Hlpmisermed

After folding the height of drawing sheet should be

LSS D@ UMmTsD FSTaTHetlen 2 wiyb

(A) 297 mm
297 A8
(C) 150 mm
150 A8

(E) Answer not known
sllenL Gsflwalerena

25

25 @ (HEECoueT(HLD.

(B) 120 mm
120 A8

(D) 210 mm
210 A
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49. A2 size (594 x 420 mm) Drawing sheet 2nd folding is
A2 erey (594 x 420 W) odrer eueyuLggTelNdr @ETLTeUg DG LIL

(A) 162 mm
162 A8
(C) 182 mm
182 A8

(E) Answer not known
alenL Gsflwalerena

(B) 172 mm
172 18

(D) 192 mm
192 115

50. A2 size drawing sheet first folding is

A2 sjarey auaruLssmefler psed wigliL

(A) 210 mm
210 1985
(C) 213mm
213 8

(E) Answer not known
enL Ggfwueieeane

51. The size of the arrowheads should be

drawing.

SbLUS @hlsaier Sare] euamyULSdler  oearellh s,

Cauer(pHLd.

(A) Proportionate
MSlgmamyons

(C) Smallest
Wa&HHlugns

(E) Answer not known
clenL Qsflwalcrena
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NGNS
(B) 212 mm
212 1A

(D) 214 mm
214 1018

to the size of the

TG

(B) Equivalent

FLOLOMEITS TS

(D) Enlarged

Quiflwgrsliul L grs



52. Oblique stroke is drawn as a short line inclined at

degree.

gmups  Cam() g &fl  grlers @m Godu  GCasrLrs
cuanULILI(HE DE).

(A)  360° (B) 270°

(C) 180° (D) 45°

(E) Answer not known
cenL g fwueieeane

53. Diagonal scale are used for the measurement to represent

epaaill L 2jare|Camed jeredl LwerL (H&Emg).
(A) One unit (B) Two units
R0 AVG DL UCRETYGEDY
(C) Three units (D) Four units
ELPGITMI <HEV(GHSHET BTG (&) <6V (HSHET

(E) Answer not known
enL Ggflwuaeieene

54. The reduced scale of a drawing is
(I UTLL SSH6T @GnaSLILL L 6Ty

@A 1:1 (B) 1:2
© 2:1 MD) 5:1

(E) Answer not known
enL Ggflwueidane

27 490-SURVEYOR AND
DRAUGHTSMAN(CIVIL)
[Turn over



55. The smallest measurement that can be taken on the main scale 1s

called

Quuller vGsdler eThdssamigw WasEFHAdHw  eraip GTeaTm)
SMP&ESILHE D).

(A) MSD (B) SMD

(C) DMS (D) MDS

(E) Answer not known
alenL Gsflwalerena

56. 12 mm diameter round bars weight/m is

12 A8 el Lib o dter 2 (mewer sbiGudler erepL /5L LT eTeleueTa ?

(A) 0.39 kg/m (B) 0.62 kg/m
0.39 £ /8L 0.62 £ /8L

(C) 0.89 kg/m (D) 1.58 kg/m
0.89 A& /B 1.58 A& /B

(E) Answer not known
cenL Ggfwuaeieeane

57. In reinforced cement concrete, steel bars cranked at an angle of
augepl Ll ACwerrt.  smhdiligd  ovied sbGsalar  cuanersseder

Carawrid
(A 10° (B) 15°
(C) 30° (D) 45°

(E) Answer not known
alenL Gsflwalerena
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58. Minimum diameter of main bar provided in a beam is

59.

@@ USld (paerebwuner oeg rsrear solblulear Gonbs jere| 64l Lib
aupmsliLL. Geuar(hib.

(A) 6mm (B) 8 mm
6 915 8 OS5

(C) 10 mm (D) 12 mm
10 S 12 1818

(E) Answer not known
enL Ggflwuaeieene

Grade — 33 cement defining compressive strength in
Brisafled 33 g7 HCbeTger WPHLWTERT (PSS eualenio

Q{emL_ULD.

(A) 7 days (B) 14 days
T BIL_seT 14 prser

(C) 20 days (D) 28 days
20 prisar 28 prser

(E) Answer not known
allenL Gsflwalerena
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60. A Two way slab provision of torsion reinforcement must be provided

at the
@ meuldl everiibh@ LTiFem euale,l L6 SETI LILITE GULPMISLIL
Gouar(hb.
(A) Left side (B) Right side
@Lg u@gulile cuegl LiGuldled
(C) Middle (D) All corners
BGH LGS e S@ATSF (pea LGS ullad

(E) Answer not known
e Qsflwalcrena

61. Columns with have lengths less than times their
respective diameters or slenderness ratio less than 32 are called
short columns

LLEIEG Darsdh@ GopeuTar FIETHET  eeneudaeten
ML mgeT ojdog oy serenn Ndsh 32-5& GoneuTs @) (HHSTe
GS®DHS 2 WFAPETET SIS 6T HMPEHSELILI(HS g

(A) 2 times (B) 4 times
2 wLmE 4 Lk
(C) 6 times (D) 8 times
6 wLkiE 8 WL kG

(E) Answer not known
e Qsflwalcrena
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62. The minimum depth of a fixed beam should be
R SAmswng Sdler GampbsULF Slgoer

(A) Span/10 (B) Span/20
Qen_Geuefl/10 @eL_Geuafl/20
(C) Span/26 (D) Span/30
@ e Qeuafl/26 @ e Qeuaf/30

(E) Answer not known
alenL Gsflwalerena

63. The maximum diameter of the reinforcing bar shall not be exceed
of the total thickness of the slab.
augapHib  sblulbler oflsuls el evertber GCwrss  sigeaflad
LiidH@ G @QmEsEsE gL mg

(A) One eighth (B) One seventh
TLlg & @ UG TPl @B UG

(C) One fifth (D) One third
BESD @B LEG ependled b Lk

(E) Answer not known
enL Ggfwueieane

64. Lap in vertical bars of longitudinal bar.
Cemni@sg sbllsailer Call o ¢tem Bemomer L.
(A) 24 xdia (B) 30 x dia
24 X AL 1b 30 X &l L 1b
(C) 35xdia (D) 40 x dia
35 X &L Lib 40 X &N Lib

(E) Answer not known
alenL Gsflwalcrena
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65. Match the following — cover in reinforcement :
Epsar_eupan CUTHSSIS :

(a) Clear cover at the ends of bars 1. 15 mm
sEWer (pigetled Hedwim Fourr 15 A8
(b) Clear cover of slabs 2. 50 mm
foomli-er Sedlwim seurm 50 A5
(¢) Clear cover of columns 3. 40 mm
ger Hedwim seur 40 A8
(d) Clear cover for foundation slab 4. 25 mm
and beams
SjevSleumysdled Fevmls whmib 25 158

Ssefled Sledwir seur

@ b (© (@

A 4 1 3 2
B) 2 3 4 1
(C) 3 4 1 2
D) 1 3 2 4
(E) Answer not known
cdlenL Gsflwalerena
66. Methods of site exploration method 1s possible to

examine the ground for a maximum depth of 3 meter.
Bleod  puigedler  eullsaiicd auflpenpuied  Bloogdled
sl g 3 5L LT b eueny Carganar Gauiwemd
(A) Open excavation (B) Probing

Camgenar &L Camatmg. <), U1ge0
(C) Auger boring (D) Deep boring

girtiuentd gleverui(h < LpoTar GleneTudl(hise

(E) Answer not known
alenL Gsflwalerena
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67.

68.

method 1s most commonly adopted to ascertain the

depth at which useful minerals and oil are available.
LWEIETET STEHISSHET HMID eTarblentil el Ss5amiql WpSns 2 niFlLOSS
ey Qurgeins ghnsbareareriiLhEng.

(A) Electrical resistivity

Oleramy senL_s$lmeir
(C) Deep boring

<orer generudl(Higed

(E) Answer not known
e Qsflwalcrena

(B) Sub-surface sounding
Ep-urliy el

(D) Auger boring
FTlivens glenerui(

Depth of foundation generally determined by the Rankine’s formula-

d=

Qurgieurs Crandlenev @Gsdrsder Ly Sevdaumyser g porag d=

- ) 2
1-sné@
@ 2==27
w_1+sm6

©) B_l—sine}

w|l-siné

(E) Answer not known
e Qsflwaicrena

33

(B)

D)

b
w

g |

[1+sin @]
| 1+s1iné |

— . _2
1+siné@

| 1-s1né |
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69. The depth of concrete block below the masonry footing is also
determined by the formula d=
sl(hwrar sgssrelar SCp srmdlf Uermsdler <ypsms Siorallss 2 Halb

&sSTd d=
A) dng (B) dng
(C) d=(6/5)T? (D) d=(T+J)

(E) Answer not known
clenL Gsflwalcrena
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70. Match the following :
Epsar_eupan CUTHSSIS :

(a)

(b)

(©

(d)

(A)
(B)
(©)
(D)

(E)

Failure of foundation
Sjevdleurrsdlen LTSl ger
Transpiration of trees

LIEISE g rrerevlbCragen Cauise
Horizontal movement of the earth

LBludlerr el ol L & (HS6

Unequal settlement of the masonry

sL_(pwrarsSer sowHm Hlane

Lateral pressure on the
super structure

Cuopsl Leawlilbd Hn i(pssh

@ b (© (@

2 3 4 1
3 4 2 1
4 2 1 3
1 3 2 4

Answer not known
cdlenL Gsflwalerena

35

Remedies

Sireysar

Provide  sufficient
wide base

Curgiomer  SiseLTer
Silg LI rraagmg,

Carhss Ceuer(Hb
Foundation should
be sufficiently deep

Sjevdleumyid
Curgiorer  erellh@
LSS D&
Ceuasr(hibd

Construct retaining
walls to prevent the
escape of earth

Yl pemeuens 5HES
SMMHBIG  &GFeUT&HeT &L
Couetr(pid

Masonry work
should be raised
evenly

sl _(Hwrer Ceuene &g
o wirgsLiLL GeuenT(HLd

490-SURVEYOR AND
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71. are generally use in granular soil when the depth of
hard strata is very great.

QuTgieuTs Siqarbrear AhsEG W PsSHO @ mbsTe Hrrepei
oarantled LU (NS LD

(A) End bearing piles (B) Friction piles
@mid sTHRIEGLD blevdgreTaeT 2 T [HlevdgreTaer
(C) Compaction piles (D) Sheet piles
STLTGFET HloSgTanaer &L Floosgranraer

(E) Answer not known
e Qsflwalcrena

72. Precast concrete piles concrete cover of atleast 18

provided.
wer ety srandlf.  Hlosgranseier smardlfl  seur  GenHSLLFID

QarhssuL. GCeuedr(h b

(A) 20 mm (B) 30 mm
20 1518 30 1918
(C) 40 mm (D) 50 mm
40 518 50 1915

(E) Answer not known
allenL Gsflwalerena
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73. A timber pile is made of 1s common Indian tree not

used.
Qeul(® wy Blosgrarsdr CeuwiuL Qurgeurs e LCurslULTES @ bSlwier
Qeul () b
(A) Teak tree (B) Sal tree
Cad @, b &med LI
(C) Babool tree (D) Banyan tree
UMULLE WD <60 DIJLD

(E) Answer not known
alenL Gsflwaicrena

74. Choose the correct statements :

sflwrer gahenm CsbOsH&s

Following are the Disadvantage of the tube steel piles.

Epsarauhdled evleed @GLTl HloSSTERT-6T SEnLowimeng.

(A) Corrosion the steel pile
evleed Blovggranflen @enmum® -y

(B) These piles with sand easily the stresses due to driving
@eleaiams fHlosgransamer essamd ghuBb sy llamarerw Hrhid
G

(C) The extra length of these piles can be cut off easily

@ser 2 Lifl Berb &eLMs Geul iy eT(H&SSLILIL LD

(D) These piles can be handled roughly without any serious
damage
@bs Hlesgreanser erbg LMSHLLID @daornd GCamymunns @udssaD
(E) Answer not known
e Qsflwalcrena
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75. Choose the wrong answer.
saiprear Lifee Csire] Cauis.

To give enough lateral stability to the structures against various
disturbing horizontal forces

uoCGeuny  @evLwm  deearells@ el F&SlsEREE  edHyns
L anblys@Ers@ Cungibrear Lss eurl_(H Hlewssearan CaThsdng

(A)  Wind (B) Rain
&mom| OGP

(C) Earth quake (D) Sun
Bl =idliey GMwer

(E) Answer not known
e Qsflwalcrena

76. Find the magnetic declination if the magnetic bearing of the sun at
noon is 354°

pavrusale @flwaler srpgs Cuin < earg 354° s @QmbsTed, &Mhs Filma

& ()19 14 H&H6LD
(A) 6°S (B) 6°N
(C) 6°W (D) 6°E

(E) Answer not known
alenL Gsflwalerena
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7T.

78.

Variations in declination in compass surveying irregular variations
are occurred by magnetic storm such as earth quakes or volcanic

eruptions and their amount may be even at a time.
srbuey  FrCaulnmdler sfeflld wmpuThsaid Fdp wLIMUTHSET &STHS
Huosermd gmeug Hophésnd Soeg  efbae  Oelgdgs SHsnd

Curerpencuwins Hlapdng. @sear etey o@m Crrssled N3
@ (m&HLD.
(A) 1°or2° (B) 1°or 3°
1° oevavgy 2° 1° oevavgy 3°
(C) 1°or4° (D) 1°o0r 5°
1° weveg 4° 1° =evevg 5°

(E) Answer not known
e Qsflwaicrena

A line was drawn an its magnetic bearing 212° on an old map if the
magnetic declination was 4°W, to what bearing should if be set now
if the present declination is 10°E

sampg efle) 4°W <6 @mbsCurg, smbs Cuim 212°@w Qsmean® Leapw
Guu Bg e@m GCasr® ecweyuiulLg. sHCurmswu smhs sfley 10°E s
@mbsme eremenr Gufln @UICUTg SjewasLiLL. Couam@Hib ?

(A) 208° (B) 198°

(C) 216° (D) 226°

(E) Answer not known
alenL Gsflwalerena
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79. In compass surveying the horizontal angle which the magnetic

meridian makes with the true meridian is known as
smbue FTGeuulnidled srpgs Gofligwer <perg L Cwfliqueil 6r 2 (heurd@§Lh

HanLwl L& Camenrid orar SiMwii(GEmg.

(A) Magnetic declination (B) Magnetic bearing
sTHEE Filey smhg Guln

(C) Magnetic meridian (D) True bearing
&MHE Ol e 2 e wimer Gl

(E) Answer not known
alenL Gsflwaicrena

80. The following bearings are given in quadrantal systems of lines
AB and AC. Calculate in each case the angle | BAC.

Line AB = N25°30'E

Line AC = S85°30°E

st L wopule, AB wppw AC <odu Csrpsefler Culm@sar
QarhssiulHdrarg. ealeuramdn@n Caramd | BAC eow sarsd(.

AB-Wér Gsr( = N25°30'E

AC-Wér Gsr( = S85°30'E

(A)  291°00’ (B) 180°00’
(C) 111°00° (D) 69°00’

(E) Answer not known
e Qsflwalcrena
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81.

In compass surveying if the closing error exceeds permissible limit
the field work 1s

srbuey #TCeuulmdld ephHibd Qe (ClOSlng error) eng| &@Jmﬁasasuul_l_
curberl el flsworerme, searbueami <o,6g)

(A) adjusted (B) repeated
gfl Qewwiiuhdpg Smbueybd Qeniwtiu@dpg
(C) not adjusted (D) not repeated
&l CQevwtiupeudloena Sbue|b Ceuwlit@eudoeame

(E) Answer not known
alenL Gsflwalerena
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82. Match the following :
Yetreu(meuareupenm GLIMBESIS

(a) Focussing the eye piece 1.

& e auflCw umiiLg)

(b) Focussing the object piece 2.

< UimsL 1ev UG LmiiLg)

(¢) The line of sight should be 3.

perpendicular to the horizontal
axis

HeoL ol L 5553 Ceh@&Hssns
urrenel Camr® @m&s Ceusr(Hb

(d) To make the horizontal axis 4.

perpendicular to the vertical axis
OemhIGSg HFHEE CFhGSSTS

SevL_ol L Fans Qaran(h ey Geuer(hb

A 2 1 1 3
B) 3 2 1 4
C) 4 2 3 1
D) 1 2 3 4

(E) Answer not known
enL Ggfwueidane

490-SURVEYOR AND 42
DRAUGHTSMAN(CIVIL)

Turning the eyepiece
in or out until the cross
hairs are seen sharp
gymev Cani & pHermms
QzMuyb eueny & Sens

2 eTCem ojevg CleueflGuw
Smas Cauar(H b
Focussed to bring the
image in the plane of
the cross hairs

gymev Canfer sarsdle
2 (heuld Qgfluyd cueny
seuard CFSSIILILL G|

Collimation test

CaraadlCuager GCargemer

Spire test

cvenLiwiT Camgener



83.

84.

test to make the line of sight perpendicular to the

horizontal axis.
S ol L &55@E Cem@ssns umimel CamleamL o (heuTss

Cergenar QeiwlibhSmg.

(A) Collimation (B) Spire
ST CLoagetr GG LIWIT

(C) Plate level (D) Vertical arc
9Ger Gleveudd Ceuiy &) ,T&

(E) Answer not known
alenL Gsflwaicrena

Following any one of temporary adjustment is not required for a new
set up a theodolite before starting the work

vanfleowyd glaus@h wer HGuremLameliger LHw Sawelhars SpsHee
@eTm SHamedls o meavbwer’ CsameuuL g

(A) Centering (B) Focussing
LWLILI(HSSISHED &ellenLwid

(C) Levelling up (D) Fitting up
LU L UIUHSSISE0 QUT(HSSHISH 6D

(E) Answer not known
e Qsflwalcrena
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85. An imaginary straight line tangential to the longitudinal curve of
altitude level as its centre is
Barorer  cuenerellenr  evww 2 Flulldd CerHGasTLTE @@ SHLUMETITET

CrrsGanh euanquliLbhSngl. gl 61 ?
(A) Axis of plate level tube
s Hleva @pmudler o&a

(B) Axis of the attitude level tube
o Wiy Hlenew @Grudler oi&e

(C) Axis of telescope
Qzmeney Crmadludler oi&a

(D) Line of collimation
umiened Gam(p)

(E) Answer not known
alenL Gsflwalcrena

86. Theodolite 1s not used for
HCurCLreval L Spssar GFuawpenns@ LweTU(HSgeuddeme

(A) Prolonging line (B) Establishing line
Caman Bl 19655 CamienL fliwrafllss

(C) Curving line (D) Angle measurements
e s CaHMThHGEET HMD&HS CameanTriseeT femedll_

(E) Answer not known
alenL Gsflwalerenay
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87.

88.

1s an imaginary line joining the centre of the eye

piece and the optical centre of the object glass.
QzreraCprsduied & Sev wLHMID YLIME  SemarTTigewwd eeflullud

DOWSFIL 6T @enand@&Hd e(h shumerd Cam() G-

(A) Line of collimation (B) Axis of telescope
umienes Gam(p) QrevevGaminer i&a

(C) Horizontal axis (D) Vertical axis
HenL_ ol L &a Oemn@Gs5E FeH

(E) Answer not known

The size of a theodolite is defined by its
@ HCurGLrene g6 erey

(A)

(B)

(©)

D)

()

alenL Gsflwaicrena

ePOL UETUMISSLILIHE D).
Diameter of the graduate circle of the lower plate

SjaTeEHeT GNSSLILL L SIS igen el LD

Diameter of the graduate circle of the upper plate

SjereyseT GOSsiuL L Cegliger el L b

Size of the inner spindle

2 6T &HLPED 6TE

Size of the outer spindle

Qeuall&apd eray

Answer not known
alenL Gsflwalerenay
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89. Rule for reduced bearing (RB) if whole circle bearing (WCB) is
between 270° and 360°

wp el Cuflm (WCB) 270° wpmid 360°@n @earuid @)mbsmed
Gopssiul L Cuitisrar (RB) 694 2
(A) RB=WCB
Gapsasrinr L Cuili = apepeur L Guifln
(B) RB=180°-WCB
@opsasriuc L Cuflim = 180° — wpeu L Gufm
(C) RB=WCB-180°
@opssiiul L Cuflin = apepeur L Cufi — 180°
(D) RB=360°-WCB
Gaopssiiul L Cufln = 360° — wprpeul L Cuiflm

(E) Answer not known
lenL Qg flwuaieeane

90. Use (+) plus sign if the given Fore Bearing (FB) is less than 180° and
minus (—) sign if it exceeds
Qarhssiu L wearaméd Gufn (Fore Bearing) 180°-eow &lL @epeuns
Qmbsred (+) @dleowl (sign) vwearu(sés CeuamBlb, WwHmLD
dsrs @Qmbsre (—) @heawl (sign) uhssCeueHILb.
(A) 360° (B) 270°

(C) 180° (D) 90°

(E) Answer not known
e Qsflwalcrena
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91.

92.

Convert Whole Circle Bearing (WCB) 285°30" to Reduced Bearing
(RB)

wpue L Gufitn (WCB) 285°30"e@w @epssuurL Guinsts (RB)
LOTHDHE|LD

(A) RB=N 74°30'W (B) RB =N 74°30'FE
(C) RB=S 74°30'E (D) RB =S 74°30'W

(E) Answer not known
e Qsflwalcrena

Find Back Bearing (BB) of the observed Fore Bearing (FB) of line
AB 63°30’

AB Gsmige umssiiul L weraméd Gufrdear (FB) 63°30'&@ Gerarme
Guimens (BB) sar_dwaeyib

A)  63°30 (B) 153°30’

(C) 243°30° (D) 333°30°

(E) Answer not known
enL Ggflwueidane
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93. 1s that type of survey in which a number of
connected survey lines from the frame work and the directions and
lengths of the survey line are measured with the help of an angle

measuring instrument and a tape respectively.

crarigl FTGeuuled e euans. @l SLLEUIL WeTE LI
#iCeou Carpsermed 2 (FeurssliLhSpg. Q&Carhsaien devs wHmb BHermiser
Coremr  <ere) smadlufler epeopd wHmD  GLi  epoepd  WpepGu

96U D).
(A) Triangulation (B) Reciprocal
lgen1y <4 mbI&Cvaem QrlyCrrése
(C) Traversing (D) Trignometrical
\q- 76U TenS] Wp5Caremalilwuicd

(E) Answer not known
alenL Gsflwalcrena

94. Find Back Bearing (BB) of the observed Fore Bearing (FB) of line
AB 203°30’

AB Gsrige umissiiul L werame Cuiimdler (FB) 203°30°&@ Gerarme
Cuimens (BB) sar_fwe|b

(A)  293°307 (B) 203°30’
(C) 113°30° (D) 23°30°

(E) Answer not known
e Qsflwalcrena
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95.

96.

97.

The direction indicated by a freely suspended and properly balanced
magnetic needle unaffected by local attractive forces is called the
senaflFensurs odLliul L. Corsse mrideamd urdssliiuLTg &Thg s
ST FHevswnerg ereueumm HP&EELILIHS DS ?

(A) True meridian (B) True bearing
gflumer Glofligwie gfluner CagmenTLd

(C) Magnetic bearings (D) Magnetic meridian
&1hg CamenTld &MHE OlLoilig e

(E) Answer not known
alenL Gsflwaicrena

In Survery, Fore bearing of a line taken in

#Geuulled, e Camiiged pearmed GLiflr THESLLHE DS

(A) Forward direction (B) Backward direction
perGanms@ Havgudled GenCGanma @ Havgudled

(C) Parallel direction (D) Perpendicular direction
@eemrwrer Slenguliled Cemi@sg SHenguliled

(E) Answer not known
alenL Gsflwalerena

The graduations can be made clearly visible by adjusting the prism
to the eye sight by the in prismatic compass.
Gflevomgs  Hanasmiiquie LwetL(hEd ser LmTeneudsmen
Gflgeno #fl Dauicugen ppd DjeTa|semers Ggefleumsl LMTES (LPlgu|b.

(A) Focussing screw (B) Mirror
SLICUITSSeiB S (hE, & GHOT GUOT Ty

(C) Pivot (D) Sun glass
9Geum G sarmenTly

(E) Answer not known
clenL Gsflwalerena
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98. In the system of graduation in prismatic compass 18
marked at east.
fevCGioligs srbueallen Sjerels GOUGH HpsEl usssdlad
orerm GOSSLLL(H @ (HSELD.
(A) 0° (B) 90°
(C) 180° (D) 270°

(E) Answer not known
alenL Gsflwalerena

99. The horizontal angle which a line makes with this meridian is
Quilgweyter @ GCsrh 2 (aurs@b SHabl L  Csmawrd  ereueumm

SDP&ELILI[HE MG ?

(A) Magnetic bearing (B) Magnetic meridian
&THE Csmenrld &MHE Gl wier

(C) True bearing (D) True meridian
sfluner Gsmeanrid gflwumer Glwiliguwie

(E) Answer not known
e Qsflwalcrena
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100. It cannot be used without a tripod

101.

(PS&TE0 @b @es LWETUhSS (Ll img
(A) Trough compass

971 SlenFsmiig
(B) Surveyor’s compass

gGouwim Hengami g

(C) Prismatic compass
Gfleviomg & SHengsmig

(D) Compass and level

Heng&HeTL g HMID L LD UTTSEGHD S(He

(E) Answer not known
enL Ggflwueideane

There are fundamental types of units used in Auto
CAD.

<L CLm Caiged LweTUBHSSILHID ——————— UMSWTET BlqLILIEDL D60 GSET
2_eTerme

A 5 (B) 4

C) 6 D) 7

(E) Answer not known
enL Ggflwueidane
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102. In Auto CAD, the objects drawn with red color on—screen may be
printed with 5mm line weight it is called
<l GLr Caiger, Heuliy Fpssmed Heavyuier aueruiLBbd QumpLger 5 WIS

Cariiger el Gamem® Afer Geuwerbd, @samer T
SMPESELIL[HSDS)
(A) Pen assignment (B) Plotting origin
QU6 SjengenleL Gerrmiigq i < fledleir
(C) Assignment (D) Plot settings
S| FGTGILDGITL Germ GlaL iq i

(E) Answer not known
alenL Gsflwalerena

103. A degree to which drawings are proportionally reduced or enlarged
1s termed as
UTULEISET lflgrésmrsdle Gansslill L Sdeg QUisTEELILBL D6Te]
oTa SemPp&sLLHEmg)

(A) Plotting scale factor (B) Scale
Lermig il evG&He coGUSLIT v Ga6

(C) Plotting scale (D) Drawing layout
Liemmiig il auGa6d -yl Geosieyl

(E) Answer not known
slenL Gsflwalerena

104. A template drawing that has a last location of the cursor is

sisflen sl QL smss Camam @ CLbUGaT aumrsd —————— &b
(A) Object snap (B) aperture

2 UCMSL BT SCL&EST
(C) Origin point (D) Prototype drawing

<, MGlgerr Limullenr HCrmGLmenL_L1 g ymuldim

(E) Answer not known
allenL Gsflwalerena
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105.

106.

1s a connected sequence of line segments created as a

single object
Qm ehan durmener 2 (haursslLbb Carl(Hiu ugdseflear @ameardasiir L
Qami cufleng —————— @G

(A) Extend (B) Stretch
6T GV L_GOTL L@ LiTE

(C) Lengthen (D) P line
Geveing 6l e 9 enev e

(E) Answer not known
alenL Gsflwaicrena

Advantage of using the command is that it allows copy
objects in defined angle and exact number of copies

————  slLeaewl UuaTUOSSHeUSET  BeTenld  eTemearblesTmmeD,
QummeTsamer aueruUDGsLILL L Caramsdlaid, badsailer erameanilsandsudiain
550 [HES e)DSHEH DS

(A) move (B) rotate
eLPGL GrmGLL_

(C) array (D) mirror
<Gy LBl

(E) Answer not known
allenL Gsflwalerenay
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107. Auto CAD allows you to have across to a large number of commands,

a general rule is that use 20% of the command

time.

T 6B3T 68T (D
Sefladlpg, <igear Gumgeirear 6ls
o LGWrSlssLLBSng)

(A) 50%

(C) 80%

(E) Answer not known
e Qsflwalcrena

FL_Lewarsener o LQuTHss

% of

CAD - & siguwd

% L sl Leorser 20%

<L CLm

(B) 75%
(D) 100%

108. Shortcut key for Draw a circle in Auto CAD
Auto CAD widveg < CLm Caigd cul Lib euerw @nisGea &

(A) Cod
(C) Cd4

(E) Answer not known
e Qsflwalcrena

109. In Auto CAD

2L G Gsiged

(A) Dimension
GO L_LDGIT Q60T

(C) Layer
Geowrr

(E) Answer not known
allenL Gsflwalerena

490-SURVEYOR AND 54
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(B) Ch.
(D) Cu.l

1s like a transparency.
QeuatliLenL gerend GUmeTDE).

(B) Text

QL&euL_

(D) Limit
A [T [



110.

111.

command is used to make a line parallel to an existing

line in Auto CAD

L G Caiged auanyibg Camiiyh@ Qevemrins e CaHTLaL 2 (HeuTsHs
SLLenerenwlll L6 (h&Senmid

(A) Fillet (B) Offset
Yevbevl ool 1GlFL

(C) Break (D) Chamfer
Crs Cab@uir

(E) Answer not known
e Qsflwalcrena

command 1s used to measure 1inclined dimension
between two points.
————— slLeer @uaw®h Letalls@Ends@ @l Cu o drermidu smliamel
Sjereil LweTuBhS gl

(A) Linear (B) Jogged
el somalL

(C) Angular (D) Aligned
RTRATE @6 ()

(E) Answer not known
enL Ggflwuaeieene

55 490-SURVEYOR AND
DRAUGHTSMAN(CIVIL)
[Turn over



112. By using system, to draw a line a certain distance at a

particular angle

——————— Sewlumu 2 uGurdliuger epobd, @l GHUGLL Careanssdld
@m GSOUELL grrsde e CamiemL auamyuead

(A) Polar co—ordinates

(B) Relative co—ordinates

Cureri Cam <yimg Cerrl e Qamrryerer Cam yirg Ceorl e

(C) Absolute co—ordinates

(D) co—ordinates

Lrenroner Cam g Certev Cam < mg Cerrl6v

(E) Answer not known
alenL Gsflwaicrena

113. Match the following manage drawings in Auto CAD :
emeumeuameupenm QuUTmSgs GG igd GCoGarsiin qrmudb :

(a) Ctrl+n 1.
Ctrl+n

(b) Ctrl+S 2.
Ctrl+S

(c) Ctrl+Q 3.
Ctrl+Q

(d) Ctrl+a 4.
Ctrl+a

@ (b © @
a 3 1 4 2
B 1 3 2 4
© 2 4 3 1
M 4 1 2 3

(E) Answer not known
enL Ggflwueieeane

490-SURVEYOR AND
DRAUGHTSMAN(CIVIL)

Save drawing

UL Sng Casilsse
Select all object
pawwns Csre|6slisd
New drawing

HSWw euenruL b

Exit

CeueflCumise

56



114. The command in Auto CAD is used to make multiple

115.

copies of objects.
Qummersemer L pabsaTs ahHliugHE < Cur CAD - e

sl Laner 2 LCuTHEsiL(HEng)

(A) Stretch (B) Mirror
eor Qe Sl

(C) Array (D) Extend
€ eT& 60Ol 6oL

(E) Answer not known
alenL Gsflwalerena

CADD allows to make fine corners of any two lines or arcs, this

technique often called
abs @l Carhser Do  eumeTe sailer  APESEET 2 (HeUTHS

@I &S g, O5¥: HIL_LILD GQU(BLUTEILD - GTET )
SMPESILHE DS
(A) Trimming (B) Filleting
q-flbLOI SolNeDeL I M
(C) Off setting (D) Chamfer
L0 &L 1q Ml Ca@Qulm

(E) Answer not known
e Qsflwalcrena
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116. Ctrl+1 key strokes function defined is
Ctrl+1 fens ev Cyré Qewdum iyamaer eueywmiiiLg
(A) Object properties window on/off

Qumpetler @GeanrmhigeT elemCLT <,60m/ <L
(B) Coordinate display on/off

Cary g Carl smHLHSHD 60T/ L
(C) Polar tracking on/off

CumeITT 1q TTEHSIBI <607/ <L
(D) Object snap tracking on/off

D UICMSL SBML g rrésin <6/
(E) Answer not known

clenL Gsflwaicrena

117. Choose the correct answer.
sflwrer udlene Csitey Qeliwab.

Computer Aided Design Package has three components, they are
sanflafl 2 g6l algeuabliL] QFm@ELIL FPETH SnnISaTTEHD el
(A) Draw, Dimensioning, Text
U6, UflbrewTd, 2 ey
(B) Draft, babble diagram, single line sketch
cueny6y, LIMY6T eueyLLLd, ehevm 6uifl euerLLLb
(C) Design, Analysis and visualization
culgeIenOLIL, LiGLUTUe| Hmib STiduhssised
(D) Design, Analysis and text
allgealewlil, U@GUuUMUe| wHnIb 2 iy

(E) Answer not known
allenL Gsflwalerena
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118. Erase, copy, mirror, offset, etc, the above properties are

119.

commands
SIPSH0, BEHD, STy, Aooll QF Cumarpeneuser GG o 6rer LT SET
&L_L_GET&ETIT(&LD
(A) Modifying (B) Tools
LDITIq o' 0G LI (Hev
(C) Menu bar (D) Dimensioning
Glggy L LI LO T GwoT el & 61T

(E) Answer not known
alenL Gsflwaicrena

The 1s the computer screen and is used to display
information
aearLg saflall Sy PGbD LODD @&  SHEULSMETS

sT_(Heugh@&L uweruBh&lerngl

(A) Monitor (B) Key board
DGOt L_L_IT & Gumir(®)

(C) Printer (D) Mouse
et @ wermeiv

(E) Answer not known
e Qsflwalcrena
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120. Computer are used to perform

speed
e  ofls  Cousssle
LwerL(HSsU1UOE g

(A) Human and electrical
elg wHmID WerEy

(C) Hardware and software

cuaTelLim(meT whmib Glwerblummer

(E) Answer not known
alenL Gsflwaicrena

Qeweur_enL Qaiw

(B) Arithmetic and logic

STl OHMID Tl

(D) Electrical and electronics
et wdmid Ll ebreoT a6l wied

121. The readings are observed and recorded by the Staff Man from
TG VL1 GLoem eped BieTe|&eT eT(h&slLL(h whmib udHwuriuGEng.

(A) Solid staff

SlLLomer 6Ll

(C) Telescopic staff

QLeevCasmiibs cuLmL

(E) Answer not known
alenL Gsflwalerena

122. A solid staff is usually

Slomer evLrii-6r QUTGIeUNS (6 SI6RTlq 6 HETLD

(A) 1.00 m
1.00 S

(C) 2.00m
2.00 Sc_ir

(E) Answer not known
alenL Gsflwalcrena

490-SURVEYOR AND 60
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(B) Folding staff

LDLoréa@Lb GLL_ITLI

(D) Target staff

I A TR YR

m long in one piece length.

B L Qarergi.

(B) 1.50 m
1.50 Sc i

(D) 3.00 m
3.00 S

operation at a very high

& w0t 6ol



123. Trigonometric Levelling different points are obtained by

124.

Wp&5Casramailwued Ceveialni-ar CeucuCoumy Lmuilamiiger eped GupliLGdHng).
(A) Linear and Angular Measurement
Berd wHmid Carent jeTenesaT

(B) Vertical Angles, Horizontal Distance
OQem@sg Camenrd, depL ol L b

(C) Degree, Minutes
g &l whmid HlOlL_riser
(D) Triangle, Equilateral

Wp5CamemTd HMID FOLGS (PECHTERTD

(E) Answer not known
clenL Gsflwalerena

Name of Self Aligning Level is called
&w Erenwiiy Geeud erar @NLIdHeug EpsasarL ehs Geoued &Hme ?

(A) Auto Level (B) Dumpy Level
sraiwmndl Geeued Loulbl9 Qeveued

(C) Wye Level (D) Self Level
U Ceeue GC&evts Gleveud

(E) Answer not known
adlenL Gsflwalerena
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125. In levelling Survey, scale 1s used for plotting the
longitudinal section.

Qeveuelim  &TCeuudey, Herorar UGHows euamreusHE e Gaed
Lwerl(HSsUUBE DG

(A 1/100 (B) 1/1000

(C) 1/1500 (D) 1/10,000

(E) Answer not known
alenL Gsflwalcrena
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126. Select the correct statement :
sflwurer eursdlumseamer CambCs@H :

(1)

(2)

(3)

(A)

(B)

(©)

D)

(E)

Height of Collimation (HC) is calculated for each setting of
Instrument

smaludlesr  @euleumm  ewlldnEn  desredlGayer 2w
sardS L LILBSDG.

HC = RL of BM + Back Sight

&TedlGager 2wy = CuEpFbriser weld + (perUmiae

Rise and Fall method is used where not accuracy is required
&  wHmb  IpEH  semsdh  epuled  Hs gidalwb
CoemailiLLg|

Rise and Fall method is a complete check for all intermediate
T(P&ES OMID IPFSH (pEOD GTETLIF DTS @)L [Hlanes (@ &L me
Q@ (Pppawwner Camgaman <, @Lb.

(1) and (3) 1is true (2) is false

(1) wpmd (3) 5, (2) soup
(1) and (2) 1s true (3) 1s false

(1) wppid (2) ofl, (3) soup

(2) and (3) is true (1) is false
(2) wpmin (3) &M, (1) seum

(1), (2) and (3) all are true
(1), 2) wppi> (3) c@arsgid of

Answer not known
e Qsflwaicrena
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127. It is not possible to setup the Level midway between two points as in
the case of Levelling across a river (or) Lake Levelling 1s
used.

@m <Pn (o) gildler @msCs Ceoeadn uvarand GCurg @rewr®H
Hereflas@ps@ BhHedld Oeoeuame Gal it uamanr wpigwns Gurg
Qeveusdim LweTURSSLILIGS DS

(A) Reciprocal Levelling (B) Fly Levelling
QredfliCrrésed Gleveued Liener Gleveuedim

(C) Check Levelling (D) Differential Levelling
sflumié@b Gleveuedim roul L Ceeuedn

(E) Answer not known
e Qsflwalcrena

128. Which bench mark is established for short duration such as at the

end of a day’s work?
@m Braler @reld peLCupp vl Curearn Godlu srosdhsns

2 (HEUTSSLILIL L S 6TeSSHTET LIGwt &elT TTDENLPSSLILI(HE DG

(A) GTS bench mark (B) Permanent bench mark
al.1q.6Te GlLIEHE LomiTs Blepaowimen GlLIEhE LomiTs

(C) Temporary bench mark (D) Arbitrary bench mark
sH&ETlE ClLIEhHF LTS senaflFamawimer GLEHE LM

(E) Answer not known
alenL Gsflwalerena

490-SURVEYOR AND 64
DRAUGHTSMAN(CIVIL)



129. The difference of level between consecutive points is found by
comparing staff readings Rise indicates (+) and Fall indicates (-). In

this statement which type of method of calculation
Qarirsflurer Yeteflsense Qe Cuw o drer efllgHwmgnd evimi figriseter

130.

<dsiuy (+) wppw srpey (—) Curapepop eudbes — popuid
sausS L LLBhSDng.
(A) Height of Collimation method
sTOICLay6T 2 Wiy (pevm
(B) Rise and Fall method
TOHD LHYD GDEs (perp
(C) Rise and Collimation method
gHm wHnb srelGager wpanm
(D) Fall and Collimation method
@n&sbd LHMD STOICLaN6T (P
(E) Answer not known
alenL Gsflwalerena
1s also perpendicular to the plumb line.
et Camiligh@ QFhEGESTE 2 dTerg.
(A) Level line (B) Horizontal line
Hlened Cam(h Sev_ol L Gam(p
(C) Vertical line (D) Datum line
Cemni@sgs Cam G Lib Cam(h
(E) Answer not known
alenL Gsflwalcrena
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131. What are the main peculiarity of Tilting Level?
peier (Hpbyb) Ceveud smeilluller saflssemeniowimearg)

(A) The Line of colimation is perfect
e U1 STlCWayer <y arg Ftlwner Uil @) hdaEWn

(B) The Axis of Telescope is Line joining object glass
QLeevCGariider & erarLg Crré@b samanTmiqant Gydueis@mh

(C) The bubble line is an imaginary line

GBI Car® <yarg @ shumarrear Cam®H <@L
(D) The vertical axis need not perpendicular to it

@ser (ani@Gsg o&s (Pppeugid amEGs5s s Qmss Coamaiuidane
(E) Answer not known

allenL Gsflwalerena

132. purpose of using Self Reading Levelling Staff.
Qs el (HFWLDTE SjeTe| LUIMTHSOD) UL ML eTeM @, Lwarailsdng 2

(A) Precise Levelling
gloalwirs Gleveudd Glauww
(B) Readings are observed directly by an observer through the

Telescope
QreevCars euflwms umis@gnd Curg eeurmed figkieans Corgwns
LIGHRTET 6J Glelmasrg)

(C) Known of midway between the point
@enL_tiyeTatlufler grybigemer &meamt

(D) Reading by Inverted only
so® SLPTs LiGLILSDHE

(E) Answer not known
cenL Ggfwuaeieeane
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133. Now a days which levelling staff is mostly used for levelling survey?
@ssrsdld Cocuddn & Ca OQFlieushHE Spssari bhg evLml HHsb

134.

135.

LIWIGTUML g 60 2 6Terg) ?
(A) Folding Staff

DIg&H@GD aIend 6L ML

(C) Solid Staff

C&L 1 WImTeT VLTl

(E) Answer not known
allenL Gsflwalerena

The thickness of each division is

Qeveuediml GV Mesli-6 gpetGleumm Aifledler giq e

Q®ESD

(A) 10 mm
10 8.8

(C) 6mm
6 .18

(E) Answer not known
alenL Gsflwalerena

A bubble tube in
GUID 1qul g

> _GTETg| 6Teu &(hSHL_aLD.

(A) Left
GLg ypw
(C) Right
Qg LpsEle

(E) Answer not known
alenL Gsflwalcrena

67

(B) Telescopic Staff

QL eevCasmbs evL_ml

(D) Invar Staff

@ emeurmT GvLmLl

mm in Levelling Staff.
BI5 Qarerr_gns

(B) 8 mm
8 18.18
(D) 5 mm
5 0.8

place is bubble in Horizontal Line.
L@Suded @QmhsTed Fmem &lenL ol L 1ors &(Hed

(B) Middle

ewwll Ldrefluded
(D) Any Place

Ths LGS gD
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136. To determine the volume of earth work because of Road, Railway,

Irrigation project which survey is carried out
sluller GuparereriiLihib wer Couamagaflear oaraisamer Sioralléss (Frane,

@muy ures, Biruurgend) Gumern L uaflsErsE &TGeu
CupGsmerariu®Sng.
(A) Drone (B) Chain
L_Grymeor O aullesr
(C) Contouring (D) Levelling
Gl Oeveuedim

(E) Answer not known
alenL Gsflwalcrena

137. Procedure of Temporary Adjustments used in leveling survey is
Qeveuadln FTGeuuller LweTURSSLILGD SHETNE g6l GG SET (PenD
(A) Levelling, Eye Vane, Object Vane

FeTU(HSSIS®, sam allfl, Qurmeten eulfdl LTSS
(B) Adjust Foot Screw, Centering, Orientation
S (@& ev@&em FaTUOSSHSD, mLLBHSS550, CrrsE Hlane
(C) Fixing the instrument on stand, Levelling, Focussing
sl o usramsms CQUTHSHS®, @LWLLOHSSHSO, Cursedn
Qewuise
(D) Handling, Fixing, Adjustment
SWTERSD, Hime|sa, Fil guige

(E) Answer not known
alenL Gsflwalerena
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138. Select the correct statement :
Yemeumeuareupdled sflwrear eursSlugams CarbGs( :

(@)

(11)

(iii)

(A)

(©)

()

Hand signals during observation must for located in busy,
noisy areas, man to give instructions vocal sounds places.
LgupliuTer, @erssd AdHsh 2w uGdsaild bm (pevaruied o erar
weaflg@isE AMeerser @I @6l epob CFmde wigwns, @g Gumern
Hlenes@hs@ s Fllsameh seuafldsi. Couem@ib.

Hand signals observation is in direct ranging places, hide
point places, Lake, Pond surface places used.

wenps Crepdlm, CQgflung yetallser @@Mms@&GD @L LD, WLHMID &6,
gfl urtiyseie #TGe CFIL g FIOGMEH LILIGIETATSTE @)(HSEHLD.
Hand signal are found to be useful for levelling work for man
holding the staff at the other end through the vocal sounds.
GTD @al&6T epald m (pevaruied Ceeialn GFuwb uailEsTs oLl
6USS (HLILIGU(HES, LDETSEEHE & FLOIGMEH LIWEETeTSTS @) (héEL0.

(i) and (iii) are true (B) (i) and (iii) are true

(ii) wpmo (i) & () whmw (i) &

(i), (i) and (iii) true (D) (i) and (iii) false (ii) is true
@), (i) wppw (ii) & @), (iii) seum whmpb (i) &

Answer not known
allenL Gsflwalerenay
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139. Principle of Levelling is
Coveuadimidler gggiaud eremLg,

(A) A Angle of measurement
Carenriisaien jarellanar sramLg)

(B) A Horizontal Line of sight

umreneuudler e Slenol L Carlel Cumeug

(C) A Linear and Angular measurement
HevL ol L wpmid Caravmhgaier semanel Cumeg

(D) A upward and Downward Line
CuGa wpmid ECip 2 crer CarHisamer sraTLg)

(E) Answer not known
allenL Gsflwalerena

140. Choose the wrong statement of the Holding the staff
evLmienl Yy S50 — @Fleb seupTan Fmhenm Hrems
(A) Hold the staff in a vertical position
evLmlient Cem@ssms Ngs5a1s6 Cararh @ mess GCeuar(hib
(B) The staff man stands behind the staff
el Guoer evLmLiL& @, emearmed @) (Hébs Couam(Hib

(C) Holds it between the palm of his hands at the height of his face
evLmienll @rerh o eTaThmssERsE Qe uld wssHneg Crrrs
@m&5 Couar(hib

(D) Ifitis vertical, the reading will be too great
Ll QEBGSSTs YqES5TE0 DeTa|H6T AHHHWDMTES ST (HLD

(E) Answer not known
enL Ggflwuaeieene
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141.

142.

The maximum height of the building shall not exceed
times width of the street.

sl gL SSler Flsul g 2w, Qgmeller ssdler OLBIGHES,)
Cd @Q(HEssamLg.

A) 0.5 (B) 1.0

(C) 1.5 (D) 2.0

(E) Answer not known
e Qsflwalcrena

If the floor area at ground level of a building is 60 sq.m. Find the
built up area

R slglLsdar sy wlLgHar uriuaey 60 .08 eepTd SU(HTE
LrliLeTeney &er(h9iq S&6yLb.

(A) 42sq.m (B) 48 sq.m
42 5.5 48 5.5

(C) 72sq.m (D) 78 sq.m
72 g.8 78 g.8

(E) Answer not known
alenL Gsflwalerena
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143. For framed multi storied building, the area occupied by the wall is

of plinth area.
SULessUULL U g sligl $8h@, seun wsHTdldgearer L@Gdwrerg,

eflerrs LipLiLiemailed DG LD.

(A) 5% to 10% (B) 10% to 15%
5% wazed 10% 10% @pse 15%

(C) 15% to 20% (D) 20% to 25%
15% @pger 20% 20% s 25%

(E) Answer not known
e Qsflwalcrena

144. Match the following :
Yemeupeuameupenm QUT(BSEs

Area of Plot Permaissible covered area
Wlemmiiger LFLiLeTey Si@Hssul L epL Ul L U@&g)
(a) More than 1000 sq.m 1. 60% of site area
1000 .88 Goed weneruylLeredldd 60%
(b) 501 sq.m to 1000 sq.m 2. 50% of site area
501 #..8 @z 1000 #.15 wevarugLlitereied 50%
(¢) 201 sq.m to 500 sq.m 3. 40% of site area
201 #.8 @pge 500 ¢.15 wevaruyiuarale 40%
(d) Upto 200 sq.m 4. 33% of site area
201 &.15 cuenry wenarurliLerede 33%
@ b © @
A 4 3 2 1
B) 3 2 1 4
© 1 2 3 4
(D) 2 3 4 1

(E) Answer not known
slenL Gsflwalerena
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145.

146.

147.

For any habitable room, window area should be a minimum

of floor area.
ThS USEEEFIGL  DMDSGD, @ememedler LFLUeTe| FenyriuFrueredle

G®DHS L&D @m&s5 Couar(hiLb.
(A) 5% (B) 10%
) 15% (D) 20%

(E) Answer not known
e Qsflwalcrena

Desirable breadth to length ratio of a room is
Rm sopuller NHDLUSSES ssHDGD BarsHhEn oder el

2GS
(A) 1:0.50to01:0.90 (B) 1:1.20to 1:1.50
(C) 1:1.50to1:2.00 (D) 1:2.00to1:2.50

(E) Answer not known
alenL Gsflwalcrena

Plan of a building is the and arranging of its component
parts in a systematic manner.
R Sllglsms S LIOIHSOL 6TaTlg ST Fwmm LITSBISEMET (T 6(LPHBISTET

papuliled aufleansliLihss) Qetieusm@L.

(A) Seeking (B) Grouping
Cohsed @GepUan

(C) Dispersing (D) Spiliting
flpnise Apgised

(E) Answer not known
e Qsflwalcrena

73 490-SURVEYOR AND
DRAUGHTSMAN(CIVIL)
[Turn over



148. 1 Ground =

1 wener ererug)

(A) 2200 sq.ft. (B) 2400 sq.ft.
2200 ggi7 =11g 2400 gg17 <i1g

(C) 2500 sq.ft. (D) 2600 sq.ft.
2500 g7 =i1g 2600 gg17 =11q

(E) Answer not known
enL Ggflwueideane

149. Maximum permissible covered area if area of plot 501 sq.m to
1000 sq.m 1s
501 &gy Boifleo @Qmbzm 1000 sgy Biim ugluerey @ mbsme,
SFsULFTE H@IFHESILIHID plgul LG

(A) 20.5% of the site area (B) 33.5% of the site area
gl urliuereder 20.5% &l urliueredled 33.5%

(C) 50% of the site area (D) 40% of the site area
gl urliuereded 50% gl urliuereder 40%

(E) Answer not known
allenL Gsflwalerena

150. 1s a plan to draw a scale of not less than 1:10,000
Qermerr 1:10,000 evCaqs@ @Gepwimoed euanruliLihdng.
(A) Key plan (B) Site plan
& Qermesr &Ll 19ermest
(C) Master plan (D) Building plan
mev LT 19ermest sligL Yermeir

(E) Answer not known
e Qsflwalcrena
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151. Only when harsh conditions, distances are short the will
be used in total station.
Cumire evCLeagalley sgearorar @Gpblaould WLIHIWL, FITD GMDeUTs
@m0 Gung) Lwe (H&S LI (HILD.
(A) Plane table and Alidade
19Carerr GLrler wHmid edlGLL-

(B) Surveyor’s compass
rGauwmen &mbLiey

(C) Transit and tape
g yremerdl Hmid G

(D) Dumpy level and levelling staff
L9 Qeveudd whmid Cleveuadim evL el

(E) Answer not known
cenL Ggfwuaeieeane

152. Total stations are ideal for collecting points.
CLmiLed evCLager Yeratlgsener Coaflés ghmg).
(A) least number of (B) large number of
&MDHSLILF 6Tetremnt|densudleomen 9iSls ereTentSensullemer
(C) small number of (D) medium number of
Slw erarenflEangsudievmen BHSST eTatmeantlseanaullemer

(E) Answer not known
e Qsflwaicrena
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153. Total station contain that can detect small deviation of
the instrument from vertical.
Cumire evCLager Qarar(herers, @& CFm@GssTs @ mHbI
smeludler SMu cllewsamensd semLmu (piguyLb.

(A) Vertical compensator (B) Horizontal compensator
Qemi@sg sTbbluerCGal i SenL ol L smbGluerCar_ i
(C) Operational key (D) Toggle key
< LICTagered & Lr&dled &

(E) Answer not known
alenL Gsflwaicrena

154. Choose the wrong answer
saiprer Udame Csrbbls(Hs.
Following are the excellent hardware features of Total station.
CurLe avCLagaflenr Aphs euarCUmHET LbFBISGET G6Teu(HLOMDI.

(A) Laser plummet
Gevarm YeribGloL-

(B) Endless drives
WigeudD 1g@TeLsaT
(C) Antenna
< GOl LaTm
(D) Optics with 30 x magnification
30 ergav 2 (HLGLMESD QamarL gaflufwied

(E) Answer not known
alenL Gsflwalcrena
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155.

156.

Choose the wrong answer
saiprar Ldlae Csrbels(Hs.

In total station, it is possible to set required units for

Cumired evGLeageie

Pl Lid.

(A) Distance
SNLd

(C) Pressure
SA(WPESLD

(E) Answer not known
alenL Gsflwalcrena

Total station permits observing

& @g,meuu_lrr@‘r SV GHEMET HMLDES

(B) Temperature
QeuliLibleney

(D) Time
Criib

from a single setup.

Cumire evGLegenmr e el mbs) SRS Tan 55

2A@DFEE D).

(A) Distances and levelling
FNUBIGET HID 6leveuadm

(C) Levelling and angles
Geveuadil whHmib CaremTmhigeT

(E) Answer not known
e Qsflwalcrena
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(B) Directions and levelling
Sengser woHmid Cleveuedinm

(D) Distances and directions
SITEISET OHMID HlengaHer
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157. Match the following :
Yetreu(meuareupenm GLIMBESIS

Following are some methods of recording data electronically.

Wererram  (pevpulled  alleugrigener
1Y etreu (mHLomm).

(a) Data recorders
CLL L QrésmirLirser

(b) Field computers
Sol1960(h & et ol g6t

(c) Recording modules
Qr&smTigh TE6

(d) Internal memories
o T Qwiger

A 4 1 3 2
@ 2 4 1 3
C© 3 2 4 1
M 1 3 2 4

(E) Answer not known
alenL Gsflwalerena

490-SURVEYOR AND 78
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1.

udley Oeueughsmear &  PpaDSET

memory cards
Hlenemeuss i anL &er

electronic field books
TGN & osL11560 ()
LSS & MBIGET

no need of memory card/

data recorders
Quwwfl srir@&er/GLr_Lm

QrssmiLrsdr Csanaluidane
hand-held computers
&l eSS (HEH @D
&6t o) & 6iT



158. When the user first sets up the total station the choice of the zero
direction 1s made 1s
vwert (wpgedld CLmiied svCLagemer enws@Gh Curg, Ll devsulaner

Csite] Cewwtiu@eug G LD.

(A) Instrument North (B) Instrument South
&(Hedl eUL&(S, smaedl (gnHE

(C) Instrument West (D) Instrument East
smedl GhE &(mell &lLpss,

(E) Answer not known
alenL Gsflwaicrena

159. Most modern total station instruments measure angles by means of

scanning.
Qupburerar peier CLTLLd vGLager &(Helsdr G efim
epold Caranrhiganer ojered (hdlerme.
(A) Electro-optical (B) 3D laser
T &L Cym-<gy i &6 3ig Cevair
(C) Horizon (D) Mechanical
ammitlegmeor @uibSredlwe

(E) Answer not known
alenL Gsflwalcrena
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160. The accuracies of measurements with the expensive total station can

run about
& gevedllwner ellemeujwihs CLm L cvCLeageaflen oaraiphisafler gidedlwbd
L HGwW &wom WhHE@ @umki@Lb.
(A) 5mm/10 ppm (B) 3 mm/6 ppm
5 10.165/10 9 Qerib 3 18.15/6 19 9erib
(C) 2mm/4 ppm (D) 1 mm/1 ppm
2 10.18/4 91 Qerid 1 19.8/1 QQerid

(E) Answer not known
e Qsflwalcrena

161. In early days, classes of Total stations were available.
<LTIbL BTl getled, cuamswrer CLmL e vCLayerser Hlenl &L
QubmiETeTey.

(A) one (B) two
Gy @rer(

(C) three (D) four
et BTG

(E) Answer not known
alenL Gsflwalerena
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162. Choose the correct answer:

sflwurer udlene CaibOsH&S :

Following are the disadvantages of Total Station
CumiLé evCLoagafler Sawsdr Gereumomy

(@)

(i1)

(111)

(iv)

(A)

(©)

(E)

Total Station should not be used for observations of the sun
unless special filters are used

Sl eugliumenseT LweTUHSSLULTAINL LT, @Giluamerd sewrsmanilss
CLmiLe evCLagamaer LWETL(HSSHETmLTG)

Using Total Station does not provide hard copies of field notes.
CumLe evCLegemer LweTLhsgieug Hleo @nlliysafler aier paHesemar
Qarhruddene

Integration of database exporting map to GIS packages
Cuirm  Cuevdler @er dGragenr — sll.eg.ered  COHTGLLSERSS
Cuiysamer ghmingl Hewudng

Coding to do automated mapping
snarns @uinkigh Collng Camgmb

(1) and (11) are correct (B) (11) and (111) are correct
(1) wHomibd (11) sNwreTme (11) womb (111) sNwrareme
(111) and (1v) are correct (D) (1) and (iv) are correct
(111) wHmb (1v) sNwraTme (1) wpobd Av) sflwureareey

Answer not known
e Qsflwalcrena
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163. Fundamental measurements in Total station the distance between

the instrument and the target is
Cumire evGLeger OqliueLwmer erail(h pevpuled HmHeil&EELb,

Q5G&HSGD @eLulerer Fryb TaT DHMLPSSILHE DS

(A) Horizontal Angle (B) Vertical angle
Sl L Gamanrid Oem@sg Csmand

(C) Line of sight (D) Slope distance
umireneuds Cam(h Fmlie| gyLb

(E) Answer not known
enL GgMweidane

164. For phase shift system, a typical specification of measurement time

1S to a single prism.
Cuev adlli erwlilsEE@ ehean Uflevsder emeil (h Crrsdler Gungeimer
cleurs @iy
(A 1-2s (B) 2-4s
1-26f 2-46
(C) 3-6s (D) 4-8s
3-66f 4-86f

(E) Answer not known
alenL Gsflwalerena
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165. Match the following :
Yetreu(mauareupen Ll GLUmMHESS

(a) EDM settings 1.

©).19.61D. Q&L iqm

(b) Communication 2.
& el 5Csag 60
(c) Atmospheric parameters 3.

cuaflar g umymbl L irger

(d) Unit setting 4.
welll GlgLiqml
(@ (b (@ (@

A 4 2 3 1

B) 2 1 4 3

) 3 4 1 2

D 1 3 2 4

(E) Answer not known
e Gsfwalerena

83

get ppm for the diagram from
the manual of the equipment
o Lisyanrhisaier ensGuLigadl(mhs)

cuTUL Sl Hamen ller-eowily
QUDISED
distance n meters,

temperature in °C and
pressure in hPa.

gymsar UL isafled Geutiublene
opmd  Spssd  °C o wpmid
2Wssb hPa-é @ msse

select IR laser, fire measuring
mode, use R.L. with caution
0. 1.Cogeny Csra] Cauige,
I GBo 6ot Wi fereil (HLbd P&,
crFgfleams o Ler <r.erd.-ulenar
o LCWrdlssen

set all parameters the same
for a total station and data
logger

ereveorm  LmymSL L isemeryd oGy
préflurs  Curilrd®  evCLager
LDDM|LD HHIQD VOT&HESTEH S,
DS
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166. Setup of a Total Station, open the legs of the tripod to set the tripod
head at the level of the operators

Cumire evClLager annssedle, @Quis@Leufler L L GHle
G TLILITL 46T S @) (HEGWLMMN STOSMETS SnESHELD.
(A) eye (B) neck
L JOEE
(C) shoulder (D) upper chest
ComeruanL Gedomiy

(E) Answer not known
e Qsflwalcrena

167. Following equipments are not in the Data Processing in Total

Station
Gemeu@pd eThg 2 Lisyamhiser CLrLe® evCLagper ssald Eymevevendni-6
@eene ?

(A) Laptop computer with serial port
Eflwed Cuimm 2 L e iy Ssanfle

(B) Extra batteries
SiFlsringuner GuiLfger

(C) Terminal Application
QLrdered yGwrsd

(D) Application programme
GrCuimdlg@w LyGyrdlymb

(E) Answer not known
alenL Gsflwalcrena
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168. Following equipments are not in the prism set in Total Station
etraumid 2 Lispemhiger CLm L6 avCLager flevd CgmEribed @deame

(@)

(11)

(111)

(iv)

(A)

(©)

(E)

Tribrach
gL FTL&

Prism
Gfevid

Tripod

lg @FLILIMTL
Centering rod
Qaerfr sl

(1) and (1)

(1) wpmid (11)

(1) and (i11)

(i) wpps (iid)
Answer not known
enL Ggflwueieene

85

(B) (1) and (1v)

(i1) wpgid (1v)

(D) (1) and (111)

(ii) wpmw (ii)
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169. Match the following :
Yetreu(mauareupen Ll GLUmMHESS

Equipments are to be need for Total Station surveying
CumLe 64CLager sTGeus@ Caameuwmear o LIGTanThseT

(a) Total Station set 1. Prism holder
CmiLed evCLager Gla Gflevd 9ig CiLimedt

(b) Prism set 2. Field notes
Wfevid GaL Sl B Cpmiev

(c) Data Processing 3. Tripod
&6 L9ymenevedl g G LILITL

(d) Survey tools 4. Laptop computer with USB port
gGeu &(mellger wp,.ere.19. GurTl 2 L6t wigdaanflefil
@ b © @

A 3 1 4 2

B 1 3 2 4

< 4 2 1 3

(D) 2 4 3 1

(E) Answer not known
e GQsflwalevena

170. Find the sum of the interior angles of a Closed polygon trasverse
that has 12 sides?

12 ussnsmears QareamL (wigaydn LeoGsrean Lyreufedler o 1 Cameanrisert e
gl (Hg Csrensemw el Hlue|b

(A)  980° (B) 1080°
(C) 1800° (D) 1980°

(E) Answer not known
enL Ggflwuaeieene
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171. Sequence the aim of EDM instrument operation
@ .1q.61d. &mall Qewuriger Crréssms euflensiu(BHgseb

(@)

(i1)

(111)

(iv)

(A)

(©)

(E)

When the cross hair is sight on target, the electronic signal
will be maximized at the centre of the prism

dlymev Camm @esdled @Qm&s@En Cumg, Wenaran &Hoeared Liflenssler
aLwLSHd FsMssriLbHib

The EDM is aimed at the prism by using either the built in
sighting devices on to EDM
©.lq.6Th.-60  26@TeT 2 GMETEMLESILILL.  UMTMel  FTSETBSMETL

LweTU(HSSIeUS6T epald @).lq.6Th. Liflevsens @hasCarerts o drerg

Set the electronic signal precisely on the prism centre
Weneran Héarena goadlwiong Liflensdler ewwssld jemdsellb

Telescope will have the optical line of sight a bit lower than
the electronic signal.
Qzmened Cprsdluneng, Wemaray Sleaewe oYL sHm  (GDeTeT

unfreneud Camienl Gl&mesTiq (hé@LD.

@), (iii), (iv) and (ii) (B) (ii), (iv), (i) and (iii)
@), (iii), (iv) wopmo (i) (i), (v), G) whps (iii)
(iv), (i), (iii) and (ii) (D) (iii), (ii), (iv) and (i)
iv), (i), (i) womo (i) (iiii), (i), (iv) womd @)

Answer not known
enL Ggfwueieane
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172. In Total Station survey, distances are booked simply as

CumiLe evCLager sTGeuulley FITHIGET FTSTFERTLONS 5 Ldle
Qe (Hererg).
(A) chainages (B) dimensions
Qeudlemerenev & LGl LD GBIT e 636N
(C) lines (D) stations
CampHaer VG ageraeT

(E) Answer not known
e Qsflwalcrena
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173. Sequence the procedure for data collection after setting the
co-ordinates in total station are following
Cumire ovCLagafler eEmudamarismer S@mwss Wng leurniser
Ceanuyssrer Qewepapaul auflansliuBEsewb.

(@)

(11)

(111)

(iv)

(V)

(A)

(©)

()

Set back sight name and reflector height and observe the
co-ordinate of it and record the data

Gerumieneuudlesr Guwim wohmid GrdHuedliiume 2 Wrsms &S LD
LHMID AF6T (HESmaTimUS seualsg aleursmsll Lde| CFuwe]b.
For detailing, set detail point name and reflector height and
record the data of different location

eumtingmh@ efleurts Yerafludler Guwim womid rdHuediiumer 2 wrsens
S@wsEsa|d  wHnd CeuCGeum @Lrseaier oleursasls Uy
Qeuiwa]|ib.

Measure the foresight station and record the data

wperumieney evGLagmar ojeThgl, eleursamsll Ldle| CFuiuia .

Give name for foresight station and set reflector height
(PETLITTEn 6L avCLagal @ Quuenys Q&TH &S D LOHmID
rSluelliLTe 2 LITSamE AMDESELD.

Power off the instrument

S(HlEW DEMTEHSHE LD

(i), @), (iv), (i) and (v) B) (iv), (i), (), (i) and (v)
@111), (1), (1v), (1) wHmb (V) v), (1), (@), (11) wpmid (V)
@), (iv), (i), (i) and (v) (D) (i), (iii), (), (iv) and )

1), @v), (1), (1) wHoid (V) @11), (111), (1), Ov) wHoHD (V)

Answer not known
alenL Gsflwalerena
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174. take the form of plug-in cards onto which data is
magnetically encoded by a total station.

ers-@er  srihseflen  algeusns aHEGL  CLmiLed

avCLagarmed elleurid &rhswms @GDunsshd eiulibhSng.

(A) Field computer (B) Recording modules
L1960 () & 6wt ol &6t Qr&amig i wr@dev

(C) Pocket calculator (D) Field books
LrsQ&L &ré @Gl L iTaar SUEDH YSSHmIgeT

(E) Answer not known
e Qsflwalcrena

175. In Rapid measurement, measurement time to a prism is between

cllenyeurenr  jerelil g, e Uflavsler emeilid  Gpiyb 5@
@eLuled ©)(HS@LD.
(A) 0.5and 1’s (B) 1’s and 2’s
0.5 wHmid 1’s 1’s wpmidb 2’s
(C) 2sand 3’s (D) 3’sand 4’s
2’s wpmibd 3’s 3’s whmibd 4’s

(E) Answer not known
e Qsflwalcrena
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176. During chaining sometimes rivers, ponds, builders, hills, thick
jungle may prevent the chainman to take the measurements directly
is called
Qellefii QeuybCurg, feo Corhselle, m&er, @GBS, &L lqL BISET,
LOEMEV&ET, L T STHSET @amalblweemd Gaufler Ly ChriqUITs feTe,|HeT

T (H&Es LT HHILILIG eTaT DHMLPSSILHE DS

(A) observation (B) obstacles
SeueLiL SENL_&ET

(C) resection (D) offsetting
AL, ool 1 FLIg Tl

(E) Answer not known
enL Ggfwueieeane
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177. Name of the figure is

A
UL gSler Quwim eTeng GMEEH DG 2

(A)
(B)
(©)
D)

()

A

Ranging Across a Hill

@ waauler Gm&Gs Greaman Clguigea
Ranging Across a Valley

Q@ LTeTssméH@ GnsGs Cramagn Qalige
Ranging Across a Hip

@ adlli-ar &n&Cs Creamsiin G
Ranging Across a Cable

e Calbdr emsCs Cremailn Glaliged
Answer not known

alenL Gsflwalerena
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178. The stations other than main stations are called as
Quoulilerr  avCLager s LoHD VG L aqeTaeT

TeTHEnLP&SLILI (NS

(A) totally station (B) Sub station
CrmLell evCLagesr auls auGL a6t

(C) tie station (D) Subsidiary station
L avGLager avLiedlfl cuCLagerr

(E) Answer not known
e Qsflwalcrena

179. A line joining some fixed points on any two lines in a main survey
line is known as
Quullerr #TGeau emavafler gCzaid @reamp Cor@seflen G @MméEn Se

Bleveowiner Lieraflsamer Qeanens@En Cam(h TTDELPESLILIHS D).
(A) base line (B) check line

Cuev enevenr O&& enevest
(C) running survey line (D) tie line

yereilm FTGeu enevesT ML ENELET

(E) Answer not known
allenL Gsflwalerena
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180. A series of connected survey lines of known lengths and directions is

called as
Qzflbs Berhsdr LHMID Hamssar 2w @amanssliul L #TCal et
Qs <yperg TTMENLP&SLILI(HEI MG
(A) check line (B) base line
O&& enever Cuev enevert
(C) triangulation (D) traverse
L e ywi i & Ee0ager L yred e

(E) Answer not known
e Qsflwalcrena

181. consists of a hollow octagonal box.
< arg e Geupm erarCamentts GlLLqamws Csram(H6rerg).
(A) French cross staff (B) Open cross staff
9@ TERE &ymev 6Ll @ueT Slymev evLmi
(C) Optical square (D) Site square
LG ESHED 606l TWIT gL evGlEmuwT

(E) Answer not known
e Qsflwalcrena

182. 1s a modern and precise instrument and is used in a
similar manner.

@@ Belar LHHID Feodlwmbrear s@med LHNID @55 WPanuld

LwerU(HSsULGE DG

(A) Site square (B) Prism square
&L GGG muIm Afled evGlgmum

(C) Optical square (D) French square
YU ESD Lol 19QTEREF evGasTwIT

(E) Answer not known
alenL Gsflwalcrena
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183. Calculate the given Triangular plot area
Qar@ssiul (herer (p&ECHTaRT Wanaruiler LIFLILIGTNG &HenTdHd (Hs.

C
g
o
[ T]
i
o |
-
A 45 m B
(A) 390.75 sqm (B) 393.25 sqm
390.75 ggiyS 393.25 ggiyS
(C) 393.75 sqm (D) 395.75 sqm
393.75 ggiyS 395.75 ggyyLS
(E) Answer not known
e Qsflwalcrena
95 490-SURVEYOR AND
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184. Calculate the given triangular plot area
Qar@ssiul L wpw&Carenr Gearml LFliLeTenel Sanréd (hhiseT

A 20 m B
L]
g
©
e
C
(A) 380 sqm (B) 360 sqm
380 #gyL5 360 g5
(C) 340 sqm (D) 350 sqm
340 sg)y.5 350 &gy.5

(E) Answer not known
alenL Gsflwalerena

185. In chain survey, are taken to the boundary points in the

order of their chainages on both the sides of the base line.
Qauldler #TCeuuded, Cuev eevafler @remh usshigafler Wgierer GeullGeargedler

auflengs SlTngdled eraenevl LieTerls@hs @ TH&ESLILHE DG
(A) Offsets (B) Fields

ool 1 FL_6 &GITTRI G
(C) Areas (D) Readings

LITLILIGT6, & 6T NAIGET Y

(E) Answer not known
enL Ggflwueidane
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186. Match the following in plane table surveying :
9 Carerr GLber gmCouuiled Gemeumeuaraupeanmls HLMHSSHIS

(a) Instrumental error

s(madluller GenLp

(b) Errors of manipulation 2.

and sighting

S WIME@HGEL LOHMILD
umrugled henip

(¢) Errors of plotting
Germ Gawiwyb Gumg
gHUBLD GenLpger

(d) Mechanical method

QEsTalss60 (P

@ (b (o)
A 1 2 3
B 4 3 1
C 3 4 2
M 2 1 4

(E) Answer not known
alenL Gsflwalcrena

(d)

LW = DN B

97

By taking care in drawing and in
the use of scales

QUMTSHED LOMHMILD S| GT6 & 6T
LwerL (H&geudled SEUETLD
QFQISSHIeUSET EHGLD

Tracing paper method

4 Crflm Guium (pev

The objects not being correctly
sighted

< LI0ms L sflums UTT&STDED
fouus

The edge of the alidade not being
a straight line

SNCLiger eflefliby CrrCamLms
@daemned @mLILG

490-SURVEYOR AND
DRAUGHTSMAN(CIVIL)
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187. The working edge of the alidade 1s called

G Liger Geumsslm afleflbLimarg) eTeTm SHMLPSSILHE DS
(A) Fiducial edge (B) Ebony edge

Sl &wimed elleflibLy erumafl efleflibLy
(C) Common edge (D) Alidade edge

GQumrg eflefbLy G efleflibyy

(E) Answer not known
alenL Gsflwalerena

188. Match the following :
Yetreu(mueuaTeLhEnm CLIM(HESS

(a) 30 m chain 1. Brass tallies
30 5 Qaudesr Gseer smedlev

(b) 20 m chain 2. 150 links
20 S5 Qeuleir 150 s @sar

(c) Every 5 m length 3. 20cm
ealQeur@m 5 5 Berid 20 Qg..8.

(d) Each link having 4. 100 links
geuGleumm lmsdler Barid 100 g @sar
@ ® @© @

A 3 1 2 4

B 1 2 4 3

C) 2 4 1 3

D) 4 3 1 2

(E) Answer not known
e Qsflwalcrena
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189. Error in area due to incorrect chain.

True area = .
@apur® 2 drer dgullermd, urliuereild gHu@D WeLp.

D _GTENLOWITET LITLILIGTGY =

L\2
(A) Measured area x(—j

1l
)2
QETSHSLIILIL L. LFLILIeTe X(Ej
1l
(B) Measured area Xf
1l

QETEHSLILIL L. LIFLILETEY Xf
Y
(C) Measured area x[fJ
PN
QETESULIL L. LITLILIETE X[fj

(D) Measured area x%

L
SETSHSLILIL L LIFLILIETEY XE
(E) Answer not known
e Qsflwalcrena
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190. The horizontal distance of the sloping ground is calculated by the
formula
gmleurar  flosdenr  dHevwl L FIyd GESHTSSTE
sarsS L LLBhSDng.
A
T l
h
AL 0
A7 =
< D .
(A) D=Al1B=Icosd (B) D=A1B=cosd
(C) D=AB=lcos@ (D) D=lcosd=AB
(E) Answer not known
e Qsflwalcrena
191. The process of measuring lateral distance from the chainline to the
objects which are to be plotted is called as
Qeller Camiigadmbgl erm Qauiw Geuarigw @osdhHE LssaT (B SMsms
Sjerall(Hid GFwdpenn T DMLPSHILHS D).
(A) Offset (B) Chaining
TR Cgullefm
(C) Offsetting (D) Ranging
DoollFLIg I Cretradirl
(E) Answer not known
slenL Gsflwalerena
490-SURVEYOR AND 100
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192. The measurement on the chain line is recorded as

Qeullesr e@eeafled eTHSSLILHDL S 6ETESHET aarm  LSlay
Qeviwtihémg.
(A) Ranging (B) Offsetting
Creradiral ool 1 FL g I
(C) Chainage (D) Lateral distance
Qeudlererey L&SeUTL () SMyD

(E) Answer not known
e Qsflwalcrena

193. 1s done to locate the objects with reference to the
chainline.
Ceullerr ewevener Y sMrLIEE CsTear®h @esE&Gsmerd el
Qevwtithépg.
(A) Offset (B) Ranging
- TRAN[AL: Creedimi
(C) Offsetting (D) Chaining
ool 1O FL g Ml GlFudleoflm

(E) Answer not known
allenL Gsflwalerena

194. Limits of error in 20 m chain is mm.
208 Qeufafler Ganpuler curbLsar OIS <24, Ld.
(A) =8 B) £5
) +5 D) =4

(E) Answer not known
enL Ggflwueidane
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195. In errors in chain, due to chain not being straight is called

error.
smdledl Yenpsafler, smdledl Crrms @dorssred eghLbheig Gemip
TaT DHMLPSHIL[HSF D).
(A) Natural (B) Personal
@Quibenswimed erHLHiLbd SNBUTTOD eFHuBID
(C) Instrumental (D) Artificial
smeilwmed erHLI(HID CFwpherswnsg egHuILD

(E) Answer not known
e Qsflwalcrena

196. The process of establishing intermediate points in line with the

terminal points before chaining is known as
Cellelmdlhe werargrs OLidlard ydtafladr o Ler aoald @ méEmn

Ulgwimg — yeTeflaer o (haums@h  Caupern  ,erg TG
<DWLBE DS
(A) Offsetting (B) Measuring
- TRAANAF: T -1 Sjerell (Higed
(C) Ranging (D) Testing
Cremedimi Cargener Cguige

(E) Answer not known
enL Ggfwueieane

197. Indirect ranging is also called ranging.
wemps Cremalm Creadlil erammild AeP&SLILIHS MG
(A) Combined (B) Double
Qemeanhs @rlenL
(C) Reciprocal (D) Single
QrelyCrrése PHem

(E) Answer not known
enL Ggflwuaeieene
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198. Among the following identify which is correct :
Yetreu(meuareupdled ergl Filwimeng)

(1)

(2)

3)

(4)

(A)

(©)

()

Signal by the surveyor
srGauwm &TL_(HLD MHFMSHSHET

Rapid sweep with right —
or left hand

UG DG QILg s
Q&marh elenyelns avaiLl
AFHY: =)

Right or left arm -
extended

UG Sbevg @L g
Camarulan B (s

Slow sweep with right —
or left hand

UG g QL g s
Qamert(® Ggleurs aueiL
QFISO
Both hands above head —
and then brought down
@ renT(h MSHMETLLD HENEOSH S
G grsdl Genart SCip
QamenT(h 6u(HB6

(2), (4) only correct

(2), (4) LLEb sfwrerg

(2), (3) only correct
(2), 3) LLEW sNwrearg,

Answer not known
alenL Gsflwalcrena

103

Action by the assistant
<5HCaHL 2 sellwimerfler
Qeweum(h&er

Move considerably to the right
or left

cueILDD Bjevg @L Lipd Crréd
OGS WS BSTH60

Fix the rod

grenL ClumhSSHeyLd

Move slowly to the right or left

UEGILDD Sdeg @ Lipd Crrés
QgleUTs BsITEH0

Plumb the rod to the right or left

TTEOL QUOGILDLD Be0g @)L ILimb
LGemibL LI Gt amlHed

(B) (1), (4) only correct
(1), (4) LLEWL sNwrarg

(D) (1), (3) only correct
(1), (3) wL P sfwrearg,
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199. The earth surface is assumed as plane and the corrective of the

earth is original is known as

Lllufer Cuopuriiy @ &wserons smsUUBEDng womibd Lslufler s
semepoew &MblFlielg) TaT DHMLPSHIL[HEF D).

(A) Plane surveying
G Gererr &mGeuudlmi

(C) Marine surveying
Quenyer grGauudmn

(E) Answer not known
e Qsflwalcrena

200. 1 cent = m2,
1 Qeerr. = FgyLb.
(A) 40.41
(C) 40.42

(E) Answer not known
alenL Gsflwalcrena

(B) Geodetic surveying
D Cwimg g8 FTGeuudmn

(D) Astronomical surveying
cunengseantls FTGeuudn

(B) 40.45
(D) 40.47
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